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BOOKS - MHTCET PREVIOUS YEAR PAPERS AND

PRACTICE PAPERS

DEFINITE INTEGRALS

Practice Exercise Exercise 1 Topical Problems

1.  is equal to

A. log 2

B. 2 log 2

C. 

∫
π / 2

0
dx

cos x

1 + sinx

(log 2)2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E9P1iaLVTBgT


D. 

Answer: A

Watch Video Solution

log 2
1

2

2. If  , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P = ∫
3π

0
f(cos2 x)dx and Q = ∫

π

0
f(cos2 x)dx

P − Q = 0

P − 2Q = 0

P − 3Q = 0

P − 5Q = 0

https://dl.doubtnut.com/l/_E9P1iaLVTBgT
https://dl.doubtnut.com/l/_yOsrqfTKjl5p
https://dl.doubtnut.com/l/_OdDiSjsSxPYg


3. The vlaue of the integral 

 is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

∫

− 1

(tan1 + tan− 1 )dx
x

x2 + 1

x2 + 1
x

π

4

π

2

π

2π

4. The value of , which satisfy

 are equal

α

∫
α

sinxdx = sin 2α(α ∈ [0, 2π]
π

2

https://dl.doubtnut.com/l/_OdDiSjsSxPYg
https://dl.doubtnut.com/l/_rsEC3ZtQ2Fgl


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

π

2

3π

2

7π
6

5.  is equal to

A. 0

B. 

C. 

D. 

∫
π / 2

0

cos2 xdx

π

6

π

4

π

3

https://dl.doubtnut.com/l/_rsEC3ZtQ2Fgl
https://dl.doubtnut.com/l/_URnQYbGlgnc0


Answer: C

Watch Video Solution

6.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1

dx

x2 + 2x + 5

π

2

π

4

π

8

π

3

https://dl.doubtnut.com/l/_URnQYbGlgnc0
https://dl.doubtnut.com/l/_i7coXcnXZDN9


7.  is equal to

A. 0

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
π / 2

0

dx
sin3 / 2 x

sin3 / 2 x + cos3 / 2 x

π

2

π

4

8. The integral  is equal to:

(1) 2 (2) 4 (3) 1 (4) 6

A. 2

∫
4

2

logx2

logx2 + log(36 − 12x + x2)dx

https://dl.doubtnut.com/l/_amtOTGfKgxRM
https://dl.doubtnut.com/l/_lpa3lIV5gkRQ


B. 4

C. 1

D. 6

Answer: C

Watch Video Solution

9.  is equal

to

A. 

B. 

C. 

D. 

∫
2

− 1
f(x)dx  where f(x) = |x + 1| + |x| + |x − 1|

7
2

9
2

13
2

19
2

https://dl.doubtnut.com/l/_lpa3lIV5gkRQ
https://dl.doubtnut.com/l/_mu4BwTIRbuVV


Answer: D

Watch Video Solution

10.  is equal to

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx
cos5 x

sin5 x + cos5 x

π

3

π

4

π

2

https://dl.doubtnut.com/l/_mu4BwTIRbuVV
https://dl.doubtnut.com/l/_eIYSUejyNs04


11.  is equal to

A. 

B. 

C. 

D. 5

Answer: D

Watch Video Solution

∫
4

0
|x − 1|dx

5
2

3
2

1
2

12.  is equal to

A. log 2

B. 2 log 2

∫
1

− 1
dx

x3 + |x| + 1

x2 + 2|x| + 1

https://dl.doubtnut.com/l/_7dlIDsQ8rLjY
https://dl.doubtnut.com/l/_c00pswziCVAB


C. 

D. 

Answer: B

Watch Video Solution

log 2
1

2

4 log 2

13.  is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
2

− 2
|x cos πx|dx

8

π

4

π

2

π

1

π

https://dl.doubtnut.com/l/_c00pswziCVAB
https://dl.doubtnut.com/l/_UMUOSugnNMDn


14.  is equal to

A. 0

B. 2

C. -2

D. None of these

Answer: B

Watch Video Solution

∫
π

0

√ dx
cos 2x + 1

2

15. Given function

 is equal to

A. 

f(x) = {
x2 for 0 ≤ x < 1

√x for 1 ≤ x ≤ 2
, then∫

2

0

f(x)dx

(4√2 − 1)

https://dl.doubtnut.com/l/_UMUOSugnNMDn
https://dl.doubtnut.com/l/_p5ZW8cMAoLKk
https://dl.doubtnut.com/l/_rDGODPhpGSOS


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(4√2 − 1)
1

3

(√2 − 1)
1

3

16.  is equal to

A. 3

B. 

C. 

D. 

Answer: D

∫
3

− 2

∣∣x
2 − 1∣∣dx

1

3

17
3

28

3

https://dl.doubtnut.com/l/_rDGODPhpGSOS
https://dl.doubtnut.com/l/_ChRbFqyxJwmS


Watch Video Solution

17.  x dx is equal to

A. 

B. 

C. 0

D. -1

Answer: C

Watch Video Solution

∫
1

− 1
x17 cos4

17

4

13
2

18.   is equal to

A. 

∫
π / 2

0
sin 2x log(tanx) dx

π

https://dl.doubtnut.com/l/_ChRbFqyxJwmS
https://dl.doubtnut.com/l/_5bXceak6Fvz7
https://dl.doubtnut.com/l/_NYI4Lqxl2IB6


B. 

C. 0

D. 

Answer: C

Watch Video Solution

π

2

2π

19.  dx is equal to

A. 0

B. log 2

C. 

D. None of these

Answer: A

∫
1

− 1
log(x + √x2 + 1)

log.
1
2

https://dl.doubtnut.com/l/_NYI4Lqxl2IB6
https://dl.doubtnut.com/l/_3D6rReOQofg8


Watch Video Solution

20. For any integer , the integral 

has the value

A. 

B. 1

C. 0

D. None of these

Answer: C

Watch Video Solution

n ∫
π

0

ecosx cos3(2n + 1)xdx

π

21.  is equal to∫
b

a

dx, a < 0 < b,
|x|

x

https://dl.doubtnut.com/l/_3D6rReOQofg8
https://dl.doubtnut.com/l/_GJAvHuaBi7mo
https://dl.doubtnut.com/l/_YU3SbkFR25cV


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

|b| − |a|

|b| + |a|

|a − b|

22. The value of integral  is

A. 1

B. 2

C. 0

D. 

∫
1

− 1
dx

|x + 2|

x + 2

−1

https://dl.doubtnut.com/l/_YU3SbkFR25cV
https://dl.doubtnut.com/l/_iv8vgq3CEalW


Answer: B

Watch Video Solution

23. Evaluate:  then

�nd the value of 

A. 

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

∫
4

− 1
f(x)dx = 4and∫

4

2
(3 − f(x))dx = 7,

∫
− 1

2
f(x)dx.

−2

https://dl.doubtnut.com/l/_iv8vgq3CEalW
https://dl.doubtnut.com/l/_NH1NzHNsZNt1
https://dl.doubtnut.com/l/_Z4yi5D6iWe0u


24.  then k is equal to

A. 4

B. 

C. 

D. 3

Answer: D

Watch Video Solution

∫
k

2

(2x + 1)dx = 6

−2

−3

25. The value of , where a,b,c,k are

constants, depends only on. . . .

A. a and k

B. a and b

∫
3

− 3
(ax + bx3 + cx + k)dx

https://dl.doubtnut.com/l/_Z4yi5D6iWe0u
https://dl.doubtnut.com/l/_Cv15J2hNJyPb


C. a, b and c

D. k

Answer: D

Watch Video Solution

26.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3a∫
1

0

( )
2

dx
ax − 1

a − 1

a − 1 + (a − 1)
− 2

a + a− 2

a − a2

a2 +
1

a2

https://dl.doubtnut.com/l/_Cv15J2hNJyPb
https://dl.doubtnut.com/l/_4Eag0pMC38nf


27.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

∫

0

∣∣x
3 + x2 + 3x∣∣dx

171
2

171

4

170

4

170

3

28. If  then  is equal to

A. 

b > a, ∫
b

a

dx

√(x − a)(b − x)

π

2

https://dl.doubtnut.com/l/_4Eag0pMC38nf
https://dl.doubtnut.com/l/_m7lzJniPD0Jo
https://dl.doubtnut.com/l/_2CvIR2WKZm0E


B. 

C. 

D. 

Answer: B

Watch Video Solution

π

(b − a)
π

2

(b − a)
π

4

29. The value of the integral  is

A. 

B. 

C. 

D. 0

Answer: D

∫
π / 2

0

(sin100 x − cos100 x)dx

1

100

100!

(100)100

π

100

https://dl.doubtnut.com/l/_2CvIR2WKZm0E
https://dl.doubtnut.com/l/_zo85TiU15Ipw


Watch Video Solution

30. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
∞

0

dx

a2 + x2

π

2

π

2a

π

a

1

2a

31.  is equal to

A. 

∫
π / 2

π / 4

cosec2dx

−1

https://dl.doubtnut.com/l/_zo85TiU15Ipw
https://dl.doubtnut.com/l/_NgBktaUVq4F2
https://dl.doubtnut.com/l/_w3duMRKXCkSX


B. 1

C. 0

D. 

Answer: B

Watch Video Solution

1

2

32. If  and if  then the values of a

and b respectively are

A. 1,1

B. 

C. 

D. 

∫
b

a

x3dx = 0 ∫
b

a

x2dx = ,
2

3

−1, − 1

1, − 1

−1, 1

https://dl.doubtnut.com/l/_w3duMRKXCkSX
https://dl.doubtnut.com/l/_d3PG4XGQiAcO


Answer: D

Watch Video Solution

33. If  is an odd function, then  is an

even function.

A. an odd function

B. an even function

C. neither even nor odd

D. 0

Answer: B

Watch Video Solution

f(t) φ(x) = ∫
x

a

f(t)dx

https://dl.doubtnut.com/l/_d3PG4XGQiAcO
https://dl.doubtnut.com/l/_vY0KxIVjulKH


34. If , then a equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a

∫

0

dx =
1

1 + 4x2

π

8

1

4

−
1

2

3

2

1

2

35.  is equal to

A. 

B. 0

∫
1

− 1
|1 − x|dx

−2

https://dl.doubtnut.com/l/_GXIaePnEZlSA
https://dl.doubtnut.com/l/_LhOjJLXr5K0o


C. 2

D. 4

Answer: C

Watch Video Solution

36.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0

dx

1 + x + x2

π

√3

π

2√3

2π

3√3

π

3√3

https://dl.doubtnut.com/l/_LhOjJLXr5K0o
https://dl.doubtnut.com/l/_7wb9vYhdAEhU


37.  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

1
( − )e2x1

x

1

2x2

( − 1)
e2

2

e2

2

( − 1)
e

2
e

2

( − 1)
e

2

e2

2

( + 1)
e2

2
e

2

38. Let  be continous function , if

 is equal to

A. 

f : ( − 1, 1) → R

∫
sin x

0
f(t)dt = x, then f( )

√3

2

√3

2

1

2

https://dl.doubtnut.com/l/_7wb9vYhdAEhU
https://dl.doubtnut.com/l/_o1Dmldw6PvVq
https://dl.doubtnut.com/l/_AjjSQQYzycPb


B. 

C. 

D. 

Answer: D

Watch Video Solution

√3

2

√
3

2

√3

39. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: D

f(a + b − x) = f(x), ∫
b

a

xf(x)dx

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(b + x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(x)dx
a + b

2

https://dl.doubtnut.com/l/_AjjSQQYzycPb
https://dl.doubtnut.com/l/_pjEFC3UWn4g6


Watch Video Solution

40.  is equal to

A. 

B. a

C. 

D. 

Answer: D

Watch Video Solution

∫
a

−a

√ dx
a − x

a + x

π

aπ

2

aπ

41.  is equal to

A. 0

∫
2π

0
(sinx + |sinx|)dx

https://dl.doubtnut.com/l/_pjEFC3UWn4g6
https://dl.doubtnut.com/l/_954o215R3rxn
https://dl.doubtnut.com/l/_oBOzUp4SlJEO


B. 4

C. 8

D. 1

Answer: B

Watch Video Solution

42. 

A. 

B. 

C. 

D. 

Answer: B

∫ dx

π

2

π

3

√1 + cos x

(1 − cos x)
5
2

3

64

−
3

64

−3

64

−
1

128

https://dl.doubtnut.com/l/_oBOzUp4SlJEO
https://dl.doubtnut.com/l/_o0ah27WHnSjd


Watch Video Solution

43.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
xex

2
dx

(e + 1)
1

2

e − 1

(e − 1)
1

2

e2

2

44. The value of  is equal to

A. 2

∫
4

1

|x − 3|dx

https://dl.doubtnut.com/l/_o0ah27WHnSjd
https://dl.doubtnut.com/l/_KiJOKZigfqOZ
https://dl.doubtnut.com/l/_g7icZG7LDaO5


B. 

C. 

D. 

Answer: B

Watch Video Solution

5

2

1

2

3

2

45.  is equal to

A. 

B. 

C. 

D. 

Answer: B

∫
1

0
dx

dx

ex + e−x

π/4

tan− 1 e −
π

4

tan− 1 e

tan− 1 e
π

4

https://dl.doubtnut.com/l/_g7icZG7LDaO5
https://dl.doubtnut.com/l/_7IjJVfz3biO0


Watch Video Solution

46.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 4

0

log( )dx
sinx + cos x

cos x

log 2
π

8

log 2
π

4

log 2

log 2
π

2

47.  is equal to

A. 

∫
2π

0

cos5 xdx

7
25

https://dl.doubtnut.com/l/_7IjJVfz3biO0
https://dl.doubtnut.com/l/_HViP0MuBvDPv
https://dl.doubtnut.com/l/_J8SJfhBMofAM


B. 

C. 

D. 0

Answer: D

Watch Video Solution

3

7

1

6

48.  is equal to

A. 0

B. 

C. 

D. 3

Answer: A

∫
1

− 1
x3ex

4
dx

3
2

5
2

https://dl.doubtnut.com/l/_J8SJfhBMofAM
https://dl.doubtnut.com/l/_otCv0Imj31Gd


Watch Video Solution

49. Suppose  is such that  for every real x

and , then 

A. 10

B. 5

C. 0

D. 

Answer: D

Watch Video Solution

f f( − x) = − f(x)

∫
1

0
f(x)dx = 5 ∫

0

− 1
f(t)dt =

−5

50. The value of the integral  is∫
a

−a

dx
xex

2

1 + x2

https://dl.doubtnut.com/l/_otCv0Imj31Gd
https://dl.doubtnut.com/l/_rBoBeABf0W7u
https://dl.doubtnut.com/l/_xHrJF6mk0vZg


A. 

B. 0

C. 

D. a

Answer: B

Watch Video Solution

ea
2

e−a2

51. If  then  (A) 

 (B)  (C)  (D) 

A. 0

B. 1

C. 2

f(x) = {
ecos x sinx |x| ≤ 2

2 otherwise
∫

3

− 2
f(x)dx =

0 1 2 3

https://dl.doubtnut.com/l/_xHrJF6mk0vZg
https://dl.doubtnut.com/l/_LnhJkeuqivmR


D. 3

Answer: C

Watch Video Solution

52.  is equal to

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

∫
π / 2

0

x sin2 x cos2 xdx

π2

32

π2

16

π

32

https://dl.doubtnut.com/l/_LnhJkeuqivmR
https://dl.doubtnut.com/l/_C5pqYsVQLv1h
https://dl.doubtnut.com/l/_HiYEtPYPvkBU


53. If f(x) is de�ned on  by 

 then 

 is equal to

A. 64

B. 

C. 0

D. 24

Answer: C

Watch Video Solution

[ − 2, 2]

f(x) = 4x2– 3x + 1 and g(x) =
f( − x) − f(x)

x2 + 3

∫
2

− 2
g(x)dx

−48

54.  is equal to

A. 

∫
π / 2

0
dθ

2√cos θ

3(√sin θ + √cos θ)

π

6

https://dl.doubtnut.com/l/_HiYEtPYPvkBU
https://dl.doubtnut.com/l/_LoDTtinxt8Tu


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

π

4

π

2

55. The value of  is equal to

A. 0

B. 2

C. 

D. None of these

π / 2

∫

−π / 2

(x2 + x cos x + tan5 x + 1)dx

π

https://dl.doubtnut.com/l/_LoDTtinxt8Tu
https://dl.doubtnut.com/l/_ENJQUYjjp1i4


Answer: C

Watch Video Solution

56.  is equal to

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0

cos3 xdx

−1

1

2√2

57.  is equal to∫
π

0
|cos x|dx

https://dl.doubtnut.com/l/_ENJQUYjjp1i4
https://dl.doubtnut.com/l/_GKr1jNhurLY0
https://dl.doubtnut.com/l/_3grWrAdHZpHA


A. 

B. 

C. 1

D. 2

Answer: D

Watch Video Solution

1

2

−2

58.  is equal to

A. 0

B. 

C. 

D. 

∫
10

− 10
log( )dx

a + x

a − x

−2 log(1 + 10)

2 log( )
a + 10

a − 10

2 log(1 + 10)

https://dl.doubtnut.com/l/_3grWrAdHZpHA
https://dl.doubtnut.com/l/_uAfXdXGNIbyw


Answer: A

Watch Video Solution

59.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

−π

dx
sin4 x

sin4 x + cos4 x

π

4

π

2

3π

2

π

https://dl.doubtnut.com/l/_uAfXdXGNIbyw
https://dl.doubtnut.com/l/_pdOqVsGWtGBK


60. Value of the integral  is

A. 4

B. 2

C. 0

D. 1

Answer: B

Watch Video Solution

∫
π / 2

−π / 2
cos xdx

61. The value of  is

A. 0

B. 2

l = ∫
π / 2

−π / 2
|sinx|dx

https://dl.doubtnut.com/l/_47SqJBfRdbLc
https://dl.doubtnut.com/l/_91Kkw8xY7MdM


C. 

D. 

Answer: B

Watch Video Solution

−2

−2 < l < 2

62. If  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: D

∫
a

0
f(2a − x)dx = m and ∫

a

0
f(x)dx = n,

∫
2a

0
f(x)dx

2m + n

m + 2n

m − n

m + n

https://dl.doubtnut.com/l/_91Kkw8xY7MdM
https://dl.doubtnut.com/l/_sP96YokVaD3m


Watch Video Solution

63. The value of  is equal to

A. 12

B. 14

C. 13

D. 16

Answer: C

Watch Video Solution

∫
4

− 2

|x + 1|dx

64.  is equal to

A. 0

∫
π / 2

−π / 2

sin|x|dx

https://dl.doubtnut.com/l/_sP96YokVaD3m
https://dl.doubtnut.com/l/_TXQYiK5vnAoF
https://dl.doubtnut.com/l/_aSITFCL30o7J


B. 1

C. 2

D. 

Answer: C

Watch Video Solution

π

65. If  then A is equal to

A. 0

B. 

C. 

D. 

Answer: B

∫
π

0

xf(sinx)dx = A∫
π / 2

0

f(sinx)dx,

π

π

4

2π

https://dl.doubtnut.com/l/_aSITFCL30o7J
https://dl.doubtnut.com/l/_rGdSz7mkH4uP


Watch Video Solution

66. The value of  is

A. 0

B. 1

C. 2

D. None of these

Answer: A

Watch Video Solution

∫
π / 2

−π / 2
log( )dθ

2 − sin θ

2 + sin θ

67. The value of the integral  is∫
2

0

∣∣x
2 − 1∣∣dx

https://dl.doubtnut.com/l/_rGdSz7mkH4uP
https://dl.doubtnut.com/l/_RIdpX3gSQRSW
https://dl.doubtnut.com/l/_pDlQWQan8ENC


A. 0

B. 2

C. 

D. 

Answer: B

Watch Video Solution

−
1

3

−2

68. The value of  is

A. 

B. 

C. 

D. 2

l = ∫
1

0

∣
∣
∣
x −

∣
∣
∣
dx

1

2

1

3

1

4

1

8

https://dl.doubtnut.com/l/_pDlQWQan8ENC
https://dl.doubtnut.com/l/_7lb3gGDnBcb6


Answer: B

Watch Video Solution

69. The value of integral  is

A. 0

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
π

0

xf(sinx)dx

π∫
π / 2

0

f(sinx)dx

∫
π

0

f(sinx)dx
π

4

https://dl.doubtnut.com/l/_7lb3gGDnBcb6
https://dl.doubtnut.com/l/_1Im8PrEpIAkx


70. To �nd the numberical value of  it is

necessary to know the values of teh constants:

A. p

B. q

C. s

D. p and s

Answer: C

Watch Video Solution

2

∫

− 2

(px3 + qx + 8)dx

71. The value of , is

A. 

π

∫

−π

dx, a > 0
cos2 x

1 + a2

2π

https://dl.doubtnut.com/l/_xpoXSwwg7cha
https://dl.doubtnut.com/l/_zJwA0S6u2SAt


B. 

C. 

D. 

Answer: C

Watch Video Solution

π

a

π

2

aπ

72. The value of  is

A. 0

B. 1

C. 2

D. 3

Answer: A

∫
π / 2

0

dx
sin2 x − cos2 x

sin3 x + cos3 x

https://dl.doubtnut.com/l/_zJwA0S6u2SAt
https://dl.doubtnut.com/l/_FoaAnXTRIFcI


Watch Video Solution

73. If  is a function satisfying  for all

nonzero  , then evaluate 

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

f(x) f( ) + x2f(x) = 0
1

x

x ∫
cos ecθ

sin θ

f(x)dx

https://dl.doubtnut.com/l/_FoaAnXTRIFcI
https://dl.doubtnut.com/l/_n69kp1aT9CG2


74. If a function f(x) satis�es . Then, the value of 

 is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

f' (x) = g(x)

∫
b

a

f(x)g(x)dx

[(f(b))
2

− (f(a))
2]

1

2

[(f(b))
2

+ (f(a))
2]

1

2

[f(b) − f(a)]
21

2

75.  is equal to

A. 1

B. 2

∫
π

0
dx

1

1 + sinx

https://dl.doubtnut.com/l/_VRejqPL83ON9
https://dl.doubtnut.com/l/_NcmssgdC1rKj


C. 

D. 

Answer: B

Watch Video Solution

−1

−2

76. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
∞

0

dx

(x2 + 4)(x2 + 9)

π

60

π

20

π

40

π

80

https://dl.doubtnut.com/l/_NcmssgdC1rKj
https://dl.doubtnut.com/l/_k5Xa8bcLIJuL


77.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0

1

x + √x

log 3

log 1

log 4

log 2

78. is equal to

A. 

∫
2

0

x3dx

(x2 + 1)3 / 2

(√2 − 1)
2

https://dl.doubtnut.com/l/_k5Xa8bcLIJuL
https://dl.doubtnut.com/l/_OBjigLrIhDHt
https://dl.doubtnut.com/l/_wRLI02hxIreb


B. 

C. 

D. None of these

Answer: D

Watch Video Solution

(√2 − 1)
2

2

√2 − 1

2

79. The value of  dx is

A. 

B. 

C. 

D. 

∫
a

0
√

a − x

x

a

2

a

4

πa

2

πa

4

https://dl.doubtnut.com/l/_wRLI02hxIreb
https://dl.doubtnut.com/l/_2BAs5XKjg4L5


Answer: C

Watch Video Solution

80. The value of integral dx is

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

∫
1

0
√

1 − x

1 + x

+ 1
π

2

− 1
π

2

−1

https://dl.doubtnut.com/l/_2BAs5XKjg4L5
https://dl.doubtnut.com/l/_WFbU2HoeiG2M


81. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

2
dx

x + 1

x2(x − 1)

log. +
16

9

1

6

log. −
16

9

1

6

2 log 2 −
1

6

log. −
4

3

1

6

82. The value of  is

A. 

B. 

∫
4

1

e√x dx

e2

2e2

https://dl.doubtnut.com/l/_ZV1Snj9o78Ln
https://dl.doubtnut.com/l/_Jx8L7uIOnmwO


C. 

D. 

Answer: B

Watch Video Solution

4e2

3e2

83. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

1

dx

x(1 + x4)

log.
1

4
17
32

log.
1

4

32

17

log.
17
2

log.
1

4
17
2

https://dl.doubtnut.com/l/_Jx8L7uIOnmwO
https://dl.doubtnut.com/l/_OAvCOmlpdnVQ


84.  is equal to

A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

∫
π / 2

0
x sinxdx

−1

85.  dx is equal to

A. 

∫
1

− 1
sin3 x cos2 x

−1

https://dl.doubtnut.com/l/_OAvCOmlpdnVQ
https://dl.doubtnut.com/l/_4AmfuweubuGA
https://dl.doubtnut.com/l/_lj7uz7PVvaBO


B. 1

C. 0

D. None of these

Answer: C

Watch Video Solution

86. The value of is

A. 

B. 

C. 

D. 

Answer: A

∫
e2

1

dx

x(1 + logx)2

2

3

1

3

3

2

ln 2

https://dl.doubtnut.com/l/_lj7uz7PVvaBO
https://dl.doubtnut.com/l/_dldBKSy4HXIr


Watch Video Solution

87. dx is equal to

A. 0

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

∫
2

0

2x − 2

2x − x2

88.  dx is equal to

A. 

∫
x

1

log(x2)

x

(logx)
2

https://dl.doubtnut.com/l/_dldBKSy4HXIr
https://dl.doubtnut.com/l/_BoODKWqj1eIt
https://dl.doubtnut.com/l/_qVnJKTfj39Qp


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(logx)21

2

logx2

2

89.  is equal to

A. 

B. 

C. 2

D. 

Answer: B

∫
π / 6

0

dx
sinx

cos3 x

2

3

1

6

1

3

https://dl.doubtnut.com/l/_qVnJKTfj39Qp
https://dl.doubtnut.com/l/_JxuzVOakZkEk


Watch Video Solution

90.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
λ

0

ydy

√y + λ

(2 − √2)λ√λ
2

3

(2 + √2)λ√λ
2

3

(2 − √2)λ√λ
1

3

(2 + √2)λ√λ
1

3

91. The value of the integral  isl = ∫
1

0

x(1 − x)ndx

https://dl.doubtnut.com/l/_JxuzVOakZkEk
https://dl.doubtnut.com/l/_YrqhzFjIPDu5
https://dl.doubtnut.com/l/_oTIg0A4iXsnQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

n + 1

1

n + 2

−
1

n + 1

1

n + 2

+
1

n + 1

1

n + 2

92.  is equal to

A. 

B. 

C. 

D. 

∫
15

8

dx

(x − 3)√x + 1

log.
1

2

5

3

log.
1

3

5

3

log.
1

5

3

5

log.
1

2

3

5

https://dl.doubtnut.com/l/_oTIg0A4iXsnQ
https://dl.doubtnut.com/l/_4kCHcKCCalNl


Answer: A

Watch Video Solution

93. The value of  is

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π

0

∣∣sin3 θ∣∣dθ

π

4
3

3

8

94.  dx is equal to∫
2

0
√

2 + x

2 − x

https://dl.doubtnut.com/l/_4kCHcKCCalNl
https://dl.doubtnut.com/l/_yDSLp0oZ85KW
https://dl.doubtnut.com/l/_WhcDiry2wLMC


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π + 2

π +
3

2

π + 1

π

95.  is equal to

A. 

B. 

C. 

D. None of these

∫
π / 2

0

dx
cos x

(1 + sinx)(2 + sinx)

log.
4
3

log.
1

3

log.
3

4

https://dl.doubtnut.com/l/_WhcDiry2wLMC
https://dl.doubtnut.com/l/_QjeCWrBCaHpk


Answer: A

Watch Video Solution

96.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

dθ
cos θ

√4 − sin2 θ

π

2

π

6

π

3

π

5

https://dl.doubtnut.com/l/_QjeCWrBCaHpk
https://dl.doubtnut.com/l/_255Ep7ThTl70


97. The value of the integral , is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

π / 4

∫

0

sin− 4 xdx

−
8

3

3

2

8

3

98. If  then f'(x) is

A. 

B. 

f(x) = ∫
x

0

t sin tdt,

sinx + x sinx

x sinx

https://dl.doubtnut.com/l/_FR0v8k3olYhz
https://dl.doubtnut.com/l/_vQ88RW9Ri3Ys


C. 

D. 

Answer: B

Watch Video Solution

x cos x

sinx + x cos x

99. Let f and g be continuous functions on [ 0 , a] such that

, then 

dx is equal to

A. 

B. 

C. 

D. 

f(x) = f(x) = f(a − x) and g(x) + g(a − x) = 4

∫
a

0
f(x)g(x)

a

2

∫
a

0
f(x)dx

a

2

∫
a

0
f(x)dx

a∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_vQ88RW9Ri3Ys
https://dl.doubtnut.com/l/_dlKMhUDIGxBN


Answer: B

Watch Video Solution

100. 

A. 3

B. 6

C. 9

D. 1

Answer: C

Watch Video Solution

Ifx = ∫
y

0
and = ay, thenf ∈ da

dt

√1 + 9t2

d2y

dx
2

https://dl.doubtnut.com/l/_dlKMhUDIGxBN
https://dl.doubtnut.com/l/_XCryJ4r69Pny


101.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
x3 / 2√1 − xdx

π

6

π

9

π

12

π

16

102. If , then  is equal to

A. 1

B. 2

∫
x

log  2
=

du

(eu − 1)1 / 2

π

6
ex

https://dl.doubtnut.com/l/_4NjEXbDyfbqb
https://dl.doubtnut.com/l/_ZbB4Kucax6ed


C. 4

D. 

Answer: C

Watch Video Solution

−1

103. If  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: B

∫
a

0
f(2a − x)dx = m and ∫

a

0
f(x)dx = n,

∫
2a

0
f(x)dx

2λ − μ

λ + μ

μ − λ

λ − 2μ

https://dl.doubtnut.com/l/_ZbB4Kucax6ed
https://dl.doubtnut.com/l/_FdRMqtsBoluu


Watch Video Solution

104.  is

A. 

B. 

C. zero

D. 

Answer: B

Watch Video Solution

∫
π

−π

dx
2x(1 + sinx)

1 + cos2

π2

4

π2

π

2

105.  dx is

A. 

∫
π / 6

0

sinx

cos3 x

2

3

https://dl.doubtnut.com/l/_FdRMqtsBoluu
https://dl.doubtnut.com/l/_A12kDNU8HomO
https://dl.doubtnut.com/l/_SehoL8UxAzIA


B. 

C. 2

D. 

Answer: B

Watch Video Solution

1

6

1

3

106.  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

∫
x

1
dx

logx2

x

(logx)
2

(logx)
21

2

logx2

2

https://dl.doubtnut.com/l/_SehoL8UxAzIA
https://dl.doubtnut.com/l/_Uv6Uqpx4XRq4


Watch Video Solution

107.  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
π / 8

0

dx
sec2 2x

2

1

4

1

3

1

2

108. if  then �nd the value of 

A. 1

∫
k

0
=

dx

2 + 8x2

π

16
k

https://dl.doubtnut.com/l/_Uv6Uqpx4XRq4
https://dl.doubtnut.com/l/_PoGQOVnsIVOF
https://dl.doubtnut.com/l/_4CrBuRDEQJYW


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1

2

1

4

109.  1 dx

A. 

B. 

C. 

D. None of these

Answer: B

∫
1

0

dx

√x + 1 − √x

2√2

3

4√2

3

8√2

3

https://dl.doubtnut.com/l/_4CrBuRDEQJYW
https://dl.doubtnut.com/l/_JVia5DvTvVYF


Watch Video Solution

110. The value of the integral 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
log 5

0

dx
ex√ex − 1

ex + 3

3 + 2π

4 − π

2 + π

111. The value of  dx is∫
2

0

3√x

√x

https://dl.doubtnut.com/l/_JVia5DvTvVYF
https://dl.doubtnut.com/l/_HbrbOvzALmK0
https://dl.doubtnut.com/l/_PNmJqHNyW8Nx


A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

(3√2 − 1)
2

log 3

2
√2

log 3

3√2

√2

112.  is equal to

A. 

B. 

C. 

D. 

∫
a

0

xdx

√a2 + x2

a(√2 − 1)

a(1 − √2)

a(1 + √2)

2a√3

https://dl.doubtnut.com/l/_PNmJqHNyW8Nx
https://dl.doubtnut.com/l/_zhVEduse2Trd


Answer: A

Watch Video Solution

113.  is equal to

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
π / 4

0

sec7 θ sin3 θdθ

1

12

3

12

5

12

https://dl.doubtnut.com/l/_zhVEduse2Trd
https://dl.doubtnut.com/l/_UyonJ8FFfHLB


114.  is equal to

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
0

− 1

dx

x2 + 2x + 2

π

4

π

2

−π

4

115.  is equal to

A. 

B. 

∫
x

0

dx

1 − 2a cos x + a2

π

2(1 − a2)

π(1 − a2)

https://dl.doubtnut.com/l/_MxlUd0Dqypq2
https://dl.doubtnut.com/l/_eOLw4ILZWDFZ


C. 

D. None of these

Answer: C

View Text Solution

π

1 − a2

116.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

secx log(secx + tanx)dx

[log(1 + √2)]
21

2

[log(1 + √2)]
2

[log(√2 − 1)]
21

2

[log(√2 − 1)]
2

https://dl.doubtnut.com/l/_eOLw4ILZWDFZ
https://dl.doubtnut.com/l/_Ddbw259kskw2


117. The correct evalution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

sinx sin 2xdx

4
3

1

3

3

4

2

3

118.  is equal to

A. 

∫
a

0

x4dx

(a2 + x2)4

( − )
1

16a3

π

4

1

3

https://dl.doubtnut.com/l/_Ddbw259kskw2
https://dl.doubtnut.com/l/_yE6z1mx7SBBg
https://dl.doubtnut.com/l/_dIFPUqN8aBs5


B. 

C. 

D. 

Answer: A

Watch Video Solution

( + )
1

16a3

π

4

1

3

a3( − )
1

16

π

4

1

3

a3( + )
1

16

π

4

1

3

119.  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

∫
8

3
dx

2 − 3x

x√1 + x

2 log( )
3

2e3

log( )
3

e3

4 log( )
3

e3

https://dl.doubtnut.com/l/_dIFPUqN8aBs5
https://dl.doubtnut.com/l/_CklWKUtrwAME


Watch Video Solution

120.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 6

0

(2 + 3x2)cos 3xdx

(π + 16)
1

36

(π − 16)
1

36

(π2 − 16)
1

36

(π2 + 16)
1

36

121.  is equal to∫
0

π

4 secx

1 + 2 sin2 x

https://dl.doubtnut.com/l/_CklWKUtrwAME
https://dl.doubtnut.com/l/_TyczYzPtDoxP
https://dl.doubtnut.com/l/_RujRyKMbfUru


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[log(√2 + 1) + ]
1

3

π

2√2

[log(√2 + 1) − ]
1

3

π

2√2

3[log(√2 + 1) − ]
π

2√2

3[log(√2 + 1) + ]
π

2√2

122.  is equal to

A. 

B. 

C. 

D. 

∫
π / 4

0
dx

sec2 x

(1 + tanx)(2 + tanx)

loge( )
2

3

loge 3

loge( )
1

3
4
3

loge( )
4
3

https://dl.doubtnut.com/l/_RujRyKMbfUru
https://dl.doubtnut.com/l/_NnkqHA2Pmw7y


Answer: D

Watch Video Solution

123.  is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

−π / 4

∫

−π / 4

e−x sinx  dx

− e
1

2

− π

2

− e
√2

2

− π

4

−√2(e + e )
− π

4
− π

4

https://dl.doubtnut.com/l/_NnkqHA2Pmw7y
https://dl.doubtnut.com/l/_js3KriNy4tS8


124. is equal to

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
π / 2

0

sinx cos xdx

cos2 x + 3 cos x + 2

log. ( )
8

9

log. ( )
9

8

log(8 × 9)

125. The value of  is

A. 

B. 

∫
1

0
dx

x4 + 1

x2 + 1

(3π − 4)
1

6

(3 − 4π)
1

6

https://dl.doubtnut.com/l/_Ta9xfH3QfEj8
https://dl.doubtnut.com/l/_GrjUx0nPr816


C. 

D. 

Answer: A

Watch Video Solution

(3π + 4)
1

6

(3 + 4π)
1

6

126. Show that 

A. log 2

B. log3

C. log5

D. log 2

Answer: D

Watch Video Solution

(lim)
n

−→
∞
( + + + ) = log 6

1

n + 1

1

n + 2

1

6n

https://dl.doubtnut.com/l/_GrjUx0nPr816
https://dl.doubtnut.com/l/_cT195V0JBvVS


127. 

A. log4

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

lim
n→ ∞

[ + + .... + ]
1

n

1

n + 1

2

n + 2

3n

4n

−log 4

1 − log 4

128.  equals

A. 

lim
n→ ∞

    
2n

∑
r= + 1

1

2

r

√n2 + r2

1 + √5

https://dl.doubtnut.com/l/_cT195V0JBvVS
https://dl.doubtnut.com/l/_GYGzk8gwsQt8
https://dl.doubtnut.com/l/_rRFyZwABobxp


B. 

C. 

D. 

Answer: B

Watch Video Solution

−1 + √5

−1 + √2

1 + √2

129.  equals

A. 

B. 

C. 

D. 

Answer: B

lim
n→ ∞

( + + ... )
1

n2 + 12

1

n2 + 22

1

2n2

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_rRFyZwABobxp
https://dl.doubtnut.com/l/_WRIrfhKTFyI0


Practice Exercise Exercise 2 Miscellaneous Problems

Watch Video Solution

130. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

li ∑
n− > ∞

n

∑
r= 1

1

√4n2 − r2

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_WRIrfhKTFyI0
https://dl.doubtnut.com/l/_5q82GHjgpKTS


1. The value of , is then the value of ,

is

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

π / 2

∫

0

x10 sinx  dx μ10 + 90μ8

10( )
3π

2

10( )
9π

2

π

2

2. 

1 (b) 2 (c) 3 (d) 4

If∫
1

0

cot − 1(1 − x + x2)dx = λ∫
1

0

tan− 1 xdx, thenλisequa < o

https://dl.doubtnut.com/l/_5xSXlPeYaEfm
https://dl.doubtnut.com/l/_GNPreosNB3VB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π − log 2

π + log 2

+ log 2
π

2

− log 2
π

2

3. The value of the integral  is

A. 

B. 2

C. 1

D. 

∫
6

3
dx

√x

√9 − x + √x

3

2

1

2

https://dl.doubtnut.com/l/_GNPreosNB3VB
https://dl.doubtnut.com/l/_xxUPZ3ta7e0P


Answer: A

Watch Video Solution

4.  is equal to (A)  (B) 

(C)  (D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
dx

17x5 − x4 + 29x3 − 31x + 1

x2 + 1

4
5

5

4
4

3

3

4

4

5

5

4

4

3

3

4

https://dl.doubtnut.com/l/_xxUPZ3ta7e0P
https://dl.doubtnut.com/l/_Hhxmsv0ocU6H


5. The value of  is

A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx
2sin x

2sin x + 2cos x

π

π

4

2π

6. Evaluate 

A. 

B. 

∫
0

log(1 + tanx)dx

π

4

loge 2
π

8

log2 e
π

4

https://dl.doubtnut.com/l/_gSOVn7G0HyCP
https://dl.doubtnut.com/l/_SFA9CWEU0xjk


C. 

D. 

Answer: A

Watch Video Solution

loge 2
π

4

loge( )
π

8

1

2

7. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
b

a

√xdx

√x + √1 + b − x

π

(b − a)
1

2

π

2

b − a

https://dl.doubtnut.com/l/_SFA9CWEU0xjk
https://dl.doubtnut.com/l/_83DkadkGsyri


8.  is equal to

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx
cos x − sinx

1 + cos x sinx

π

2

π

4

π

6

9. Evaluate: 

A. 

(lim)
n

−→
∞
[ + 2/n2 + + sec2 1]

1

n2

sec2 1

n2

sec2 4

n2

1

n

tan 1
1

2

https://dl.doubtnut.com/l/_83DkadkGsyri
https://dl.doubtnut.com/l/_vRY4ujXNvLUK
https://dl.doubtnut.com/l/_Jl8VThXOlb2z


B. tan 1

C. 

D. 

Answer: A

Watch Video Solution

cosec1
1

2

sec 1
1

2

10. The value of the integral is

A. 

B. 0

C. 

D. None of these

Answer: B

∫
π / 2

0

log|tanx|dx

π log 2

−π log 2

https://dl.doubtnut.com/l/_Jl8VThXOlb2z
https://dl.doubtnut.com/l/_HeGz6BFVnlWU


Watch Video Solution

11.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

−π / 2
sin4 x cos6 xdx

3π

64

3π

572

3π

256

3π

128

12. If f(x) =  dx is

equal to

f(a + x) and ∫
a

0
f(x)dx = k, then∫

na

0
f(x)

https://dl.doubtnut.com/l/_HeGz6BFVnlWU
https://dl.doubtnut.com/l/_buJnjIoQLk39
https://dl.doubtnut.com/l/_MAjABFLN3AJZ


A. nk

B. 

C. 

D. 0

Answer: A

Watch Video Solution

(n − 1)k

(n + 1)k

13. The value of  where  is the greatest integer

function

A. 

B. 

C. 

∫
√2

0

[x2]dx [ ⋅ ]

2 − √2

2 + √2

√2 − 1

https://dl.doubtnut.com/l/_MAjABFLN3AJZ
https://dl.doubtnut.com/l/_ftYgbtDjdcCy


D. 

Answer: C

Watch Video Solution

√2 − 1

14. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π

0

xdx

a2 cos2 x + b2 sin2 x

π

2ab

π

ab

π2

2ab

π2

ab

https://dl.doubtnut.com/l/_ftYgbtDjdcCy
https://dl.doubtnut.com/l/_7uyaQx3OfhuR
https://dl.doubtnut.com/l/_5wmc9qcjAKGr


15.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l = ∫
1

− 2

(tan− 1 x + cot − 1 )dx
1

x

+ 4 tan− 1 2 − In
5π

2

5

2

− 4 tan− 1 2 + In
5π

2

5

2

− 3 tan− 1 2 − In
5π

2

5

2

− 3 tan− 1 2 +
5π

2

5

2

16.  is equal to

A. 

B. 

C. 

∫
π

0

x sin4 xdx

3π

16

3π2

16

16π

3

https://dl.doubtnut.com/l/_5wmc9qcjAKGr
https://dl.doubtnut.com/l/_1dF6CNXHYfQG


D. 

Answer: B

Watch Video Solution

16π2

3

17. If  then the value of 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

sin6 dx = ,
5π

32

∫
π

−π

(sin6 x + cos6 x)dx

5π

8

5π

16

5π

2

5π

4

https://dl.doubtnut.com/l/_1dF6CNXHYfQG
https://dl.doubtnut.com/l/_XsR69PLWPf15


18.  dx is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 4

0

[√tanx + √cot x]

√2π

π

2

π

√2

2π

19. Evaluate the following limit: 

A. e

lim
n→ ∞

[ ]
1 /n

n !

nn

https://dl.doubtnut.com/l/_XsR69PLWPf15
https://dl.doubtnut.com/l/_JWunahUboOB6
https://dl.doubtnut.com/l/_iAfRjQxTDzqi


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

e

π

4

4
π

20. Let a, b and c be non - zero real numbers such that

 , then

A. 

B. 

C. 

D. 

∫
3

0
(3ax2 + 2bx + c)dx = ∫

3

1
(3ax2 + 2bx + c)dx

a + b + c = 3

a + b + c = 1

a + b + c = 0

a + b + c = 2

https://dl.doubtnut.com/l/_iAfRjQxTDzqi
https://dl.doubtnut.com/l/_nUr5XKhnkCQm


Answer: C

Watch Video Solution

21. The value of integral  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n

∑
k= 1

∫
1

0

f(k − 1 + x)dx

∫
1

0
(x)dx

∫
2

0
f(x)dx

∫
n

0
f(x)dx

n∫
1

0
f(x)dx

https://dl.doubtnut.com/l/_nUr5XKhnkCQm
https://dl.doubtnut.com/l/_sSwnYB4l17Pl


22. 

then �nd the value of 

A. 3

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

If∫
1

sin x

t2f(t)dt = 1 = 1 − s ∈ x, wherex ∈ (0, ),
π

2

f( ).
1

√3

√3

1/3

23. The value of  is

A. 1

∫
4

2
{|x − 2| + |x − 3|}dx

https://dl.doubtnut.com/l/_dRMHgGPquobw
https://dl.doubtnut.com/l/_qcRe5pccogOB


B. 2

C. 3

D. 5

Answer: C

Watch Video Solution

24.  is equal to

A. 

B. 

C. 

D. 

Answer: B

∫
2

− 1
|x|3

dx

5

4

17

4

15

4

4

5

https://dl.doubtnut.com/l/_qcRe5pccogOB
https://dl.doubtnut.com/l/_zX3oyxjsoXyJ


Watch Video Solution

25. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

0
dx =

3x + 1

x2 + 9

log(2√2) +
π

12

log(2√2) +
π

2

log(2√2) +
π

6

log(2√2) +
π

3

26. 

A. 

∫
π / 4

0
=

4 sin 2θdθ

sin4 θ + cos4 θ

π

4

https://dl.doubtnut.com/l/_zX3oyxjsoXyJ
https://dl.doubtnut.com/l/_kXQdXsPVJwpZ
https://dl.doubtnut.com/l/_8v8wLMrj3oqC


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

π

2

π

27. The value of the integral  is

A. 

B. 0

C. 

D. a

Answer: B

∫
a

−a

dx
xex

2

1 + x2

ea
x

e−a2

https://dl.doubtnut.com/l/_8v8wLMrj3oqC
https://dl.doubtnut.com/l/_1KSVwwVH2KoJ


Watch Video Solution

28.  is equal to

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

∫
π / 2

−π / 2

dx

1 + cos x

29. The value of  is∫
12a

0

dx
f(x)

f(x) + f(12a − x)

https://dl.doubtnut.com/l/_1KSVwwVH2KoJ
https://dl.doubtnut.com/l/_YQapGE8bQZsr
https://dl.doubtnut.com/l/_4FyV2wPNyr2l


A. a

B. 2a

C. 3a

D. 6a

Answer: D

Watch Video Solution

30. If , then the value of k is

A. 9

B. 3

C. 

D. 

k∫
1

0
xf(3x)dx = ∫

3

0
tf(t)dt

1

9

1

3

https://dl.doubtnut.com/l/_4FyV2wPNyr2l
https://dl.doubtnut.com/l/_8NU9mhVkcfPe


Answer: A

Watch Video Solution

31.  is

equal to

A. 

B. 

C. 

D. 2

Answer: B

Watch Video Solution

lim
n→ ∞

+ + + ...
1

√n2 + n

1

√n2 + 2n

1

√n2 + (n − 1)n

2 + 2√2

2√2 − 2

2√2

https://dl.doubtnut.com/l/_8NU9mhVkcfPe
https://dl.doubtnut.com/l/_RFeb0s2VdhXT


32. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lim
n→ ∞

1p + 2p + 3p + .......... . + np

np+ 1

1

p + 1

1

1 − p

−
1

p

1

p − 1

1

p + 2

33. Evaluate:

A. 0

(lim)
n

−→
∞
( + + + )

1

√4n2 − 1

1

√4n2 − 22

1

√3n2

https://dl.doubtnut.com/l/_K0zNKxfLYv6G
https://dl.doubtnut.com/l/_VWl7HQw1HCsU


B. 1

C. 

D. 

Answer: D

Watch Video Solution

π

3

π

6

34. If  for  

A. 1

B. 0

C. 

D. 

f(x) = tanx − tan3 x + tan5 x − tan7 x + ...∞

o < x < , than∫
π / 4

0

f(x)dx =
π

4

1

4

1

2

https://dl.doubtnut.com/l/_VWl7HQw1HCsU
https://dl.doubtnut.com/l/_wvrc4pRIZ1Jm


Answer: C

Watch Video Solution

35. The value of  is equal to -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

cos3 4θdθ

π

8

5

3

5

4

1

3

1

6

https://dl.doubtnut.com/l/_wvrc4pRIZ1Jm
https://dl.doubtnut.com/l/_wbQiGvsKcrgT


36.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 3

0

dx
cos x + sinx

√1 + sin 2x

4π
3

2π

3

π

π

3

37.  is equal to

A. 

B. 

∫
1

0
x3 / 2√1 − xdx

π

6

π

9

https://dl.doubtnut.com/l/_FQAT5dSCowWe
https://dl.doubtnut.com/l/_208iU6ZBQ6kF


C. 

D. 

Answer: D

Watch Video Solution

π

12

π

16

38. The value of  is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

1

dx

(x + 1)√(x2) − 1

1

√3

2

√3

−2

√3

https://dl.doubtnut.com/l/_208iU6ZBQ6kF
https://dl.doubtnut.com/l/_3yoNPYhy8C9j


39. If  then

the value of  is

A. 3

B. 

C. 

D. 0

Answer: C

Watch Video Solution

f(x) =

∣
∣ 
∣
∣

sinx + sinx2x + sin 3x sin 2x sin 3x

3 + 4 sinx 3 4 sinx

1 + sinx sinx 1

∣
∣ 
∣
∣

,

∫
0

f(x)dx

π

2

2

3

1

3

40.  is equal to∫
1

− 1

(ex
3

+ e−x3
)(ex − e−x)dx

https://dl.doubtnut.com/l/_3yoNPYhy8C9j
https://dl.doubtnut.com/l/_53Ok04D9TzUB
https://dl.doubtnut.com/l/_xjBUkOhaBkj0


A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

− 2e
e2

2

e2 − 2e

(e2 − 2e)

41.  is equal to

A. log 2

B. log3

C. log5

D. 0

lim
n→ ∞

( + + ... + )
1

n

1

n + 1

1

3n

https://dl.doubtnut.com/l/_xjBUkOhaBkj0
https://dl.doubtnut.com/l/_6EryaV4YguR9


Answer: B

Watch Video Solution

42. Let  for every real number x, where  is the

greatest integer less than or equal to x. Then, evaluate

A. 1

B. 2

C. 3

D. 0

Answer: A

Watch Video Solution

f(x) = x– [x], [x]

∫
1

− 1
f(x)dx.

https://dl.doubtnut.com/l/_6EryaV4YguR9
https://dl.doubtnut.com/l/_NBFkZmiL9xRg


43. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
dx

x4 + 1

x2 + 1

(3 − 4π)
1

6

(3π + 4)
1

6

(3 + 4π)
1

6

(3π − 4)
1

6

44. The value of dx, is

A. 

B. 

5

∫

3

x2

x2 − 4

2 − loge( )
15

7

2 + loge( )
15

7

https://dl.doubtnut.com/l/_k3RKH96z5xUf
https://dl.doubtnut.com/l/_IsqKBW5QQlN5


C. 

D. 

Answer: B

Watch Video Solution

2 + 4 loge 3 − 4 loge 7 + 4 loge 5

2 − tan− 1( )
15

7

45. The value of  is

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

∫
π / 2

0

(sinx + cos x)
2

√1 + sin 2xdx

https://dl.doubtnut.com/l/_IsqKBW5QQlN5
https://dl.doubtnut.com/l/_o2QyHurY3Vxg


46.  dx is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
a

0

√a2 − x2

πa2

πa21

2

πa21

3

πa21

4

47. The value of  is equal to

A. 1

∫
e

e− 1

dt

t(t + 1)

https://dl.doubtnut.com/l/_o2QyHurY3Vxg
https://dl.doubtnut.com/l/_Y3Ib9auoJ9Qx
https://dl.doubtnut.com/l/_9VsTkKXs8jVY


B. 

C. 

D. 

Answer: A

Watch Video Solution

log( )
e

1 + e

log( )
1

1 + e

log(1 + e)

48. The value of  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

∫
e

1
10loge x

10 loge(10e)

10e − 1

loge 10e

10e

loge 10e

(10e)loge(10e)

https://dl.doubtnut.com/l/_9VsTkKXs8jVY
https://dl.doubtnut.com/l/_6euiFAKoV99e


Watch Video Solution

49. If  then

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
e

2
( − )dx = a + ,

1

logx

1

(logx)
2

b

log 2

a = e, b = − 2

a = e, b = 2

a = − e, b = 2

50.  is equal to∫
∞

0

dx

(x + √x2 + 1)
3

https://dl.doubtnut.com/l/_6euiFAKoV99e
https://dl.doubtnut.com/l/_Ru4Gql0jAKDN
https://dl.doubtnut.com/l/_VMWB132inJ7z


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

3

8

1

8

−3

8

51. The value of the integral  dx is

A. 0

B. 

C. 

D. 

∫
π / 2

−π / 2

√cos x − cos3 x

4

3

2

3

1

5

https://dl.doubtnut.com/l/_VMWB132inJ7z
https://dl.doubtnut.com/l/_bfGVyUCt97Bm


Answer: B

Watch Video Solution

52. The value of 

, is

A. 0

B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

I =

0

∫

− 2

{x3 + 3x2 + 3x + 3 + (x + 1)cos(x + 1)cos(x + 1)}dx

https://dl.doubtnut.com/l/_bfGVyUCt97Bm
https://dl.doubtnut.com/l/_nhI2ruLPQeCm


53.  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
β

α

√
x − α

β − x

(α − β)
π

2

(β − α)
π

2

π(α − β)

π(β − α)

54. Let f(x) be a function satisfying  with

and g(x) be a function that satis�es  . Then

the value of the integral , is

f' (x) = f(x) f(0) = 1

f(x) + g(x) = x2

∫
1

0
f(x)g(x)dx

https://dl.doubtnut.com/l/_nhI2ruLPQeCm
https://dl.doubtnut.com/l/_lubRkc5Zx6hH
https://dl.doubtnut.com/l/_NjoEphSJkcgX


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

lee− −
e2

2

5

2

e + −
e2

2

3

2

e − −
e2

2

3

2

e + +
e2

2

5

2

55. The value 

 depends

on the value of

A. the value of p

B. the value of q

2

∫

− 2

{p  In( ) + q  In ( ) − 2 + r}dx
1 + x

1 − x

1 − x

1 + x

https://dl.doubtnut.com/l/_NjoEphSJkcgX
https://dl.doubtnut.com/l/_iBtcdG935sf4


C. the value of r

D. The values of p and q

Answer: C

Watch Video Solution

56. Let  where 

Then F (e) equals

A. 

B. 0

C. 1

D. 2

Answer: A

F (x) = f(x) + f( ),
1

x
f(x) = ∫

x

1

dt.
log t

1 + t

1/2

https://dl.doubtnut.com/l/_iBtcdG935sf4
https://dl.doubtnut.com/l/_7Ff4uwZTD4uN


Watch Video Solution

57. If  is equal to

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

2f(x) − 3f(1/x) = x,  then ∫
2

1

f(x)dx

(3/5)log 2

( − 3/5)(1 + log 2)

( − 3/5)log 2

58.  is equal to

A. 

∫
2π

0
sin6 x cos5 xdx

2π

https://dl.doubtnut.com/l/_7Ff4uwZTD4uN
https://dl.doubtnut.com/l/_2ntbJCooq0AB
https://dl.doubtnut.com/l/_s6zT7wVZksh5


B. 

C. 0

D. 

Answer: C

Watch Video Solution

π/2

−π

59.  dx is equalt to

A. 

B. 

C. 

D. 

Answer: B

∫
−π / 2

− 3π / 2
[(x + π)

3
+ cos2 x]

( ) + ( )
π4

32

π

2

( )
π

2

( ) − 1
π

4

π4

32

https://dl.doubtnut.com/l/_s6zT7wVZksh5
https://dl.doubtnut.com/l/_wngMJBX8ro07


Watch Video Solution

60. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

0
dx =

3x + 1

x2 + 9

log(2√2) +
π

12

log(2√2) +
π

2

log(2√2) +
π

6

log(2√2) + log(2√2) +
π

3

π

3

61.  islim
n→ ∞

n

∑
r= 1

er/n1

n

https://dl.doubtnut.com/l/_wngMJBX8ro07
https://dl.doubtnut.com/l/_s6LVJhrBlzfO
https://dl.doubtnut.com/l/_Razpw1xKYvlg


A. e

B. 

C. 

D. 

Answer: B

Watch Video Solution

e − 1

1 − e

e + 1

62.  then k equals

A. 0

B. 

C. 

D. 

∫
1 / 2

− 1 / 2
cos x log( )dx = k log 2,

1 + x

1 − x

−1

−2

1

2

https://dl.doubtnut.com/l/_Razpw1xKYvlg
https://dl.doubtnut.com/l/_65v6M7sfTutK


Answer: A

Watch Video Solution

63. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

sin5 xdx

4
15

8

5

8

15

4
5

https://dl.doubtnut.com/l/_65v6M7sfTutK
https://dl.doubtnut.com/l/_N6QyncBW3icb


64. If  , then the value of f(4) is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
x2

0

f(t)dt = x cos πx

1

4

−1

−1

4

65. If  is di�erentiable and  then 

 equals  (b)   (d) 

A. 

f(x) ∫
t2

0

xf(x)dx = t5,
2

5

f( )
4
25

2

5
−

5

2
1

5

2

2

5

https://dl.doubtnut.com/l/_ueFUCJk7R1RT
https://dl.doubtnut.com/l/_6IvgnFnGcax8


B. 

C. 1

D. 

Answer: D

Watch Video Solution

−
5

2

5

2

66. The value of  is

A. 

B. 

C. 

D. None of these

Answer: A

∫
π / 2

0

sin8 xdx

105π

32(4!)

105π

14(4!)

105

16π(4!)

https://dl.doubtnut.com/l/_6IvgnFnGcax8
https://dl.doubtnut.com/l/_6ohFdaKAHauC


View Text Solution

67. The value of , is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

∫

−π

(1 − x2)sinx cos2 x  dx

π −
p3

3

2π − π3

− 2π37
2

68.  is equal to∫
1

0

xdx

[x + √1 − x2]√1 − x2

https://dl.doubtnut.com/l/_6ohFdaKAHauC
https://dl.doubtnut.com/l/_GPy091RJ8QvK
https://dl.doubtnut.com/l/_5wpFPnJZqiMB


A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

π

4

π2

2

69. The value of  depends upon

A. 

B. 

C. 

D. 

∫
π

0

(Σ3
r= 0ar cos3 −r x sinr x)dx

a1 and a2

a0 and a3

a2 and a3

a1 and a3

https://dl.doubtnut.com/l/_5wpFPnJZqiMB
https://dl.doubtnut.com/l/_comaRbQq4gqB


Answer: D

Watch Video Solution

70. The value of  is

A. 2

B. 1

C. 0

D. None of these

Answer: C

Watch Video Solution

∫
1

− 1
x|x|dx

https://dl.doubtnut.com/l/_comaRbQq4gqB
https://dl.doubtnut.com/l/_pLRRAl4JumxZ


71. The value of integral 

A. 2

B. 

C. 0

D. 1

Answer: D

Watch Video Solution

∫
2 /π

1 /π

dx =
sin( )1

x

x2

−1

72. The value of  is

A. 

B. 

∫
e2

1

dx

x(1 + logx)2

2

3

1

3

https://dl.doubtnut.com/l/_pxaRMwNRAOog
https://dl.doubtnut.com/l/_tcVgmLvsDPeG


C. 

D. log 2

Answer: A

Watch Video Solution

3

2

73. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

π / 3
dx

√1 + cos x

(1 − cos x)
5 / 2

5

2

3

2

1

2

2

5

https://dl.doubtnut.com/l/_tcVgmLvsDPeG
https://dl.doubtnut.com/l/_IpiHaxHpOup0


74. The value of the integral , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

∫

0

x(1 − x)ndx

1

n + 1

1

n + 2

−
1

n + 2

1

n + 2

+
1

n + 1

1

n + 2

75. The value of  is

A. 

∫
π

0

dx

5 + 4 cos x

2π

https://dl.doubtnut.com/l/_IpiHaxHpOup0
https://dl.doubtnut.com/l/_idSG0pBSuE3J
https://dl.doubtnut.com/l/_oOyzp9uaeDOA


B. 

C. 

D. 

Answer: D

Watch Video Solution

3π

2

5π

4

π

3

76. The integral  has the value

A. 

B. 

C. 

D. None of these

Answer: C

∫
1

0

dx

1 − x + x2

2π

3

2π

√3

2π

3√3

https://dl.doubtnut.com/l/_oOyzp9uaeDOA
https://dl.doubtnut.com/l/_PEzhKfFEOxja


Mht Cet Corner

Watch Video Solution

1.  is equal to

A. 1

B. 3

C. 2

D. 0

Answer: D

Watch Video Solution

∫
−

log( )dx

π

2

π

2

2 − sinx

2 + sinx

https://dl.doubtnut.com/l/_PEzhKfFEOxja
https://dl.doubtnut.com/l/_3eMWv17fNsUs


2. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

( )dx =
n√secx

n√secx + n√cosecx

π

2

π

3

π

4

π

6

3. The value of  is

A. 

B. 

∫
1

0

x2(1 − x2)
3 / 2

dx

1

32

π

8

https://dl.doubtnut.com/l/_zQ7AgNjVSng1
https://dl.doubtnut.com/l/_q59tZeqioecS


C. 

D. 

Answer: D

Watch Video Solution

π

16

π

32

4. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
∞

0
dx

x

(1 + x)(x2 + 1)

2π

π

4

π

16

π

32

https://dl.doubtnut.com/l/_q59tZeqioecS
https://dl.doubtnut.com/l/_3GP8uy0AdmD8


5. Evaluate ,where .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0

xdx

1 + cosα sinx
0 < α < π

πα

sinα

πα

cosα

πα

1 + sinα

πα

1 + cosα

6.  is equal to

A. 1

B. 0

∫
π / 2

π / 2
dx

cos x
1 + ex

https://dl.doubtnut.com/l/_3GP8uy0AdmD8
https://dl.doubtnut.com/l/_blS8ovxo8iQd
https://dl.doubtnut.com/l/_B9uXVUXxgGoT


C. 

D. None of these

Answer: A

Watch Video Solution

−1

7. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx = ?
1

(1 + tanx)

π

π/2

π/3

π/4

https://dl.doubtnut.com/l/_B9uXVUXxgGoT
https://dl.doubtnut.com/l/_rDXHlSVW3jH1


8. If  dx = p , then the value of 

dx is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
tan− 1 x ∫

1

0
tan− 1( )

1 − x

1 + x

+ p
π

4

− p
π

4

1 + p

1 − p

9. The value of  is

A. 

∫
π / 2

0

log(cosec x)dx

log 2
π

2

https://dl.doubtnut.com/l/_rDXHlSVW3jH1
https://dl.doubtnut.com/l/_YycUvbE0QRlJ
https://dl.doubtnut.com/l/_8K0l9jJEfJuZ


B. 

C. 

D. 

Answer: A

Watch Video Solution

π log 2

− log 2
π

2

2π log 2

10. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer: C

∫
1

0
exdx = e

∫
1

0
2xdx = log 2

∫
1

0
√xdx =

2

3

∫
1

0
xdx =

1

3

https://dl.doubtnut.com/l/_8K0l9jJEfJuZ
https://dl.doubtnut.com/l/_1IHoAQQuANcC


Watch Video Solution

11.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
5

0
dx

1

(x − 1)(x − 2)

log.
27

32

log.
32

27

log.
8

9

log.
3

4

12. ∫ ex(log sinx + cot x)dx

π

2

π

4

https://dl.doubtnut.com/l/_1IHoAQQuANcC
https://dl.doubtnut.com/l/_MrsuHKehv07i
https://dl.doubtnut.com/l/_409oSKrxSVqz


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

eπ / 4 log 2

−eπ / 4 log 2

eπ / 4 log 2
1

2

− eπ / 4 log 2
1

2

13. The value of  is

A. 

B. 

C. 0

D. None of these

∫
π

0

x sin3 xdx

4π
3

2π

3

https://dl.doubtnut.com/l/_409oSKrxSVqz
https://dl.doubtnut.com/l/_Rmr13f3zCaAB


Answer: B

Watch Video Solution

14. The value of  is equal to

A. 2

B. 1

C. 

D. 0

Answer: B

Watch Video Solution

∫
0

dx

π

2 cos 3x + 1

cos x − 1

1

2

https://dl.doubtnut.com/l/_Rmr13f3zCaAB
https://dl.doubtnut.com/l/_SqVV1VBYvvct


15. The value of  is

A. 1

B. 0

C. 

D. None of these

Answer: B

Watch Video Solution

1

∫

0

tan− 1( )dx
2x − 1

1 + x − x2

−1

16. If f is a continous function, then

A. 

B. 

∫
2

− 2
f(x)dx = ∫

2

0
[f(x) − f( − x)]dx

∫
5

− 3
2f(x)dx = ∫

10

− 6
f(x − 1)dx

https://dl.doubtnut.com/l/_ScvrgfQAMXzR
https://dl.doubtnut.com/l/_JhWuVWYfyq6p


C. 

D. 

Answer: B

Watch Video Solution

∫
5

− 3

f(x)dx = ∫
4

− 4

f(x − 1)dx

∫
5

− 3

f(x)dx = ∫
6

− 2

f(x − 1)dx

17. The value of  x dx is equal to

A. 1

B. 2

C. 3

D. 0

Answer: D

Watch Video Solution

∫
π

−π

sin3 x cos2

https://dl.doubtnut.com/l/_JhWuVWYfyq6p
https://dl.doubtnut.com/l/_MfsZYQAV27rj


18. The value of  is

A. 1

B. 2

C. 0

D. 4

Answer: C

Watch Video Solution

∫
1

− 1

log( )dx
x − 1

x + 1

19. 

A. 

∫
π / 3

π / 6
dx =

1

(1 + √tanx)

π

12

π

12

https://dl.doubtnut.com/l/_MfsZYQAV27rj
https://dl.doubtnut.com/l/_pLvTmFoAcgFl
https://dl.doubtnut.com/l/_cUWkPFhvapiP


B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

6

π

4

20.  is qual to

A. 

B. 

C. 

D. 

Answer: B

∫
2

1
ex( − )dx

1

x

1

x2

e −
e2

2

− e
e2

2

+ e
e2

2

− 2
e2

2

https://dl.doubtnut.com/l/_cUWkPFhvapiP
https://dl.doubtnut.com/l/_Cy2Tm0IpAMN4


Watch Video Solution

21.  is equal to

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3

1
dx

cos(logx)

x

cos(log 3)

sin(log 3)

π/4

22.  is equal to

A. 

∫
1

0

dx
x2

1 + x2

− 1
π

4

https://dl.doubtnut.com/l/_Cy2Tm0IpAMN4
https://dl.doubtnut.com/l/_fopg55wwTiab
https://dl.doubtnut.com/l/_h4DOjvyAk5q6


B. 

C. 

D. 

Answer: D

Watch Video Solution

1 −
π

2

− 1
π

2

1 −
π

4

https://dl.doubtnut.com/l/_h4DOjvyAk5q6

